Acids and Bases.

1. The pKa of HNO; is 3.25. Calculate pKb, Ka, and Kb.
2. Write a reaction showing the neutralization of HF with KOH.
3. Aflask contains 14.86 uM HNO:s.
a. Calculate the pH, pOH, [H30*], and [OH]
b. Do you expect the pH of 14.86 uM HNO: to be more acidic?
4. A flask contains 14.86 nM HNOs. Calculate the pH.
5. Calculate the pH of a 148.6 uM solution of HNO,.
6. Calculate the pH of a 148.6 uM solution of KNO,.
7. Whatis the pH of 1 mM H>SO4? Note that the pKa of HSO. is 1.99.

8. What concentration of HNO; has the same pH as 100 mM HBr?

9. For a 100 mL solution of 100 mM KNO::
a. What volume of 1.5 M HCl is needed to completely neutralize this solution?



@

@

Pha=das pemdogfe ezt 2 see
ﬁa\-?kb: \L' (Pkb—. \l-{-"Pfe. - lO‘ﬂV
- (0.7% -1
?(b—. —Iégkb Kb—' (In) - lf’? ) l

WPy + KoH caps —= Hao* + KFagy

No,-\a..\{ac.\"\oe\-z_ '\ﬁnéuung \—\.,2) ‘?mh /tC reactho \7‘1,3@. ol cnd o Lasg
~Loils dwse b o desble disdlacemat Rackon

@ WE6 ot AND, 4y iy &\‘\Tbﬁg aeid !

G . HN% ey + H70(¢D _— \j(';é'( X NOJ-
Tolt dissacictin — onaGn oy et e pavvsa pecckon dheo NOT \nep@m-

R AR W, ) amy et W e M
Tl ey [T

- \th X Y/A‘J\ = [_“-&6*—3
-FH = -—(ag L.Ye6 Ylo-s- = Yy

L.gNOA s & veak acd, so i doe ant dinacigo CBNPH‘(*) L ecosns

@ As ~eacKon s Qowrn ed Lsca es.ilibiivm G pknd -
- s, ot el b+l WNey Secome, l—\-so"'\sg £ 7H oill ke Wigher (len

tred i
Y. ldgL nﬂM’li\i\\/{ﬁ_ﬂ = LYre ko Y M = CHoptY)
PMpoyl v am

$T“‘NB- c«clé

-Slnes CH'AB*B £ C\"-&b“_} _Cmo-\ “—LO (\5——‘\"\\\&—&! MA *Q
tele (HyoPod- ioh accood .

LH1& D = (LHao"')“,ml Y CHOD ey = V16 Gt 15

{ = -7
CHy0' kel = Liugl ki 7 A P~ fog Ll e -_@



S. WELmM Qpoq (P 3.29)

|d§-b ’ WEM L e x M
wan

R0 + Hho = poy + Hyof

T L™ Vi o
c - X A+ X 4
C lugexisT -« ~ x
S'.Lv’LX{J'" = Xt N -5
AT +<6n »{’l:/l( - R X2

| dgbxiy =X

~cf —
X= =Sb2Xre T+ {(bxee N = YD (-5 kD o
- - - = \17 Xl>

L
X=CH' 3 =12 g ol
?H -~ —(03 rzxe ! = a9

(d§ L AT WKN0q e‘,‘/.;x lone <°“'\?°"°4 breaks cpart iy NO-  iany,

b-
\(b—_ l.’!?xlo’” L(‘C.‘CA\O,-‘J ta '&.(3

NOy iy e week bese!
RLeaet sonall K|
NO. + W0 2 VR0 capy + OH™ So e Con vse K

T labde o #Z @ Shk e
A X YA
- A X
lL.dsLXi X o e - -
& “x~Cen ™)
ks = X _ X1
\-\{t(-*'b“("r \_qﬂ,,u{"/ )('L—_'L-ULIS—XM"F

A=CeHD = SilUkp™® M
_‘(Zp_._\h, Stall EQH’), ) &AA EOH—.}&&+<1'

COM Daetel = 187+ Sigxw® =~ 1.8 X1a" T M

voll = b.v2
—FH—_ le] - LA ~ T



1. \—\1_304-, <« S‘\'ﬂmc% Qc(el

NS0y + Hho —> W, + Wqof

N
I et of el Prodsad

HGoy o vesk wcid!

- 1= o\'(e,: .99
BLo,™ + HaO(y = S04 + W0 ! | R
T s 2 & Ke= o™
o 4 tA X
c Xes =X X X
-7
\.oLrxew © = 4L 1
et AT odoma s =g
Xz -badbt-ysc -L
— = A%k M
C(un “-\S"q b

1 - -3 -
C“Sb }Mq\ - \)(lb 4 ‘T-W"lo Y - \-q\?/‘,m"s Y\

’\2\‘\ - _(bé) RIS - 72|

€. womt Hic =5 ot \-\30"' LL«W S'-\-c\st\és “t‘(J.)

w sakin
<o woe s | ¥ v CHeo) g "PmcL-v; 0. \'\3b+ o Q7¢}\|\,(ium

Wmb o (ad + Wiy = NOL + Wy

&

T T Z Ka= St
c -X +X X

C T x =

ol =X
- 1 I8

Lb1LX - .
<L to _LY—— = &O;\)_ T -01 = 7.1

T-X T - 0\
T = Nga M



100 ML) 163 | oo enene _ \
I \(V\LT L = 1o meel NOoL~ (b.ol mbl)

a . Yo (\su’cﬂ“'ﬂk v o2ad lo onend \*Cl

-3 L v
10 memal WY 1o md\l TL\«: = LA el
tonmol | LS mdl pey | 10730




	AcidBaseactivity
	Acid base workday

